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1. Answer the following questions as directed : 1x8=8

WWWWW

(a) Fill in the blank :
Ul 9 7[9 Fq :

____is the only even prime number.

GG A (TR R A R/

(b) Write T;ue or False :
3T} (F SpTey ford

63 is a prime number.

63 bl (Mo 4 |

(c) Fill in the blank :
e 3R [T A
is known as ‘Father of Statistics’.

3 ey Recas g e r = |
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(d) Write True or False :

o) (1 ST foran :

Sampling method is more expensive than Census
method.

Pret wmafS poirre e mafS wigs I |

(e) Fill in the blank :
N 31 [T I
The total surface area of a hemisphere is

9Bl ST Yo Pifdefe 2

() Define frequency density of a class interval.

OB N SBIEN IR G A fo4n |

(g) Fill in the blank :

R I o[ A
10% profit on CP = profit on SP.
R 8o e 10% &% = (IPMER /R[S 1S |

(h) Write True or False :

o) (F ST T

Bar diagram is two-dimensional diagram.

wefoq 2'7 fagfas foa |
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2. Answer the following questions : 2x5=10

Toq 2PpTRe Teq for

(a) Solve :
AN <41 :
| 5x-2| <7

(b) If logarithm of a number to the base J5 is K, what is
the logarithm to the base 5/5?

mﬁﬁﬂ\WWf_ﬁWWKQWSJ— ACTF G
ﬂ\%ﬂﬂﬁ‘ﬁlﬁl

(c) Simplify :

9] 90
3n+1 +3TL
3n+3 _ 3n+1
(d) Find the third proportional to % and %

8 12
7W£?'ﬂﬂmﬁﬁ“fﬂ$ml

(e) Solve :
A A1
3x? + 8x=0
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3. Answer the following questions : 3x5=15
OE 2PPTRI T s
(@) If (af)

0 = xyp—l, b=xyq"1, c =xyr—l

prove that (AWM Q) a9 b P P79 =1
Or / =z
If (@)

x=32/34372/3

show that (G48ar @) 9x3 —27x = 82.

(b) Define trade discount and fourth proportional.
TR R S ey SRR Fi]es ol |

(c) If 1 meter = 3:29 ft, find the distance in miles travelled
with a speed of 6 kilometer per hour in 9 hours
46 minutes and 40 seconds.

I 1 WoR = 329 o =, (SR’ 24l 9%61® 6 RFeenfipe [
53 9 ¥%1 46 WRG 40 (rrws R 1y wfewy IRI 17 Wik
Aoy w911

(d) From a copper plate, which is a square of side 12:5 cm,
a circular disc of diameter 7 cm is cut off. Find the
weight of the remaining part if 1 sq. cm of the plate
weighs 08 gm.

125 e fi. I=RFR 93q I9feR omF (267 1 7 @ N, IeREE
IBRFR | F0 AR 29 1 T afs 3o @M. OWF (b3 e
0-8 2 =W, (SCR'TA (AHYHT I Y| HF S Hefq 41 |
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Or / F33r

How many tiles of size 40 cm x 20 cm will be required
to have a footpath 1 meter wide round the outside of a
36 m x 30 m grass plot?

36 . x 30 fi. (=N3" @Iy WRAT IRIR vilReFE 1 FoR 329

ooy ffie 3RacE 40 @ f. x 20 @M. o w53 S
TS 2] 7 : |

(e) Solve (any one) :

S 11 (R @ e «@ot) -

. 1 26
3 B% g s =2

" x 1-x 13
(1) 1’————— +J— =—

4. Answer either (a) or (b) : S

(@) 31 (b)-3 R I GO TSI 41 :

(a) A toy in the form of a cone mounted on a hemisphere of
radius 3-5 cm. If the total height of the toy is 155 cm,
find its total surface area. ’

9B e’ P Twel 155 &1 TR WFe THE—D
3-5 zfi. IPTRAE SNy e Wbl T W YR WRR |
o[ Jo Ffdfer fefa <t |
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(b) A room is of length 22 m, breadth 16 m and height 5 m.
Find the cost of papering the four walls with papers
2 m wide at the cost of ¥ 5:20 per meter. The room has
4 doors and 4 windows of dimension 2:5 m x 12 m and
3 m x 2 m respectively. Allow 5% extra paper for
wastage.

22 . T, 16 fil. 7z W 5 . THoR 91 (IR vIRew (I3
2 . 929 FIsiceed IR s | (Florcere 2-5 il x 1.2 W, wis
4 @R W 3 fi x 2 f. @v9 4 37 RIS =z | 3 5% e
o T I @1 =, TR’ 2fS fER 520 B e (rontre
PSS AT FG AT 541

5. A shopkeeper purchases 50 dozen eggs at ¥ 40 per dozen.
Of these 40 eggs are found to be broken. At what price
should he sell the remaining eggs to make a profit of 5%? S

G5 (RFIAIE 2f% e 40 591 f2pe 50 TEd I [Ffce, o/ ooae
40ﬁ¢%ﬁmeamlreﬁwa*%wzﬁwﬁmmﬁﬁ
I (€3 5% &S 2’3 ?

Or / 1341

Two mixtures P and Q contain paint and turpentine in the
ratio 4:5 and 3:2 respectively. How many litres of Q must
be mixed with 72 litres of P so that the resulting mixture
may contain equal quantities of paint and turpentine? S

P Q Yol e &) W off (oo #RW9 Wy 4:5 W 3:2.
72 R P fmre Rym R Q fizma Jo7 o g - )
-7 237 -
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6. What are the advantages of sampling survey over census
method? B

P omfog werre ofovem ommiod JRYPHR Sray 1 |
Or / =131

Discuss the importance of statistics in business and
comIimerce. S

Jifere cffman KT o¥gs [ &

7. Under what condition the point (x, y) is equidistant from
the two points (-3, 2) and (-4, 1)? 5

R 58 e (-3, 2) AT (4, 1) RL W (x, y) R 11 e
< 2

8. A rectangular metal plate 1 cm thick, 8 cm broad and
27 cm long is melted into a cube. Find the difference in
surface area of the two solids. S

1 =M. Twel, 8 =M. 3z o 27 &N, e 493 (26 937 AR 9=
T SIPReT 4199 (20 ToFR I A | G (63 PiRFf endw Refa
saif

9. Find the coordinates of the points which divides the line
segment joining the points (8, —7) and (-7, 3) internally in
the ratio 2:3. @

(8, —7) W (<7, 3) @ AWM @eT 2:3 Fros Sss I
R g By
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Or / 131

If P, Q, R are the midpoints of the sides BC, CA and AB
respectively of AABC where A(-3,7), B(S, 3) and C(7, 9),
find the area of the APQR. 5

¥t P, Q, R & AABC 3 BC, CA WI¥ AB I3 W49 =¥, TS
A(-3,7), B(5, 3)= C (7, 9=, (512’8 APQR I Jifel fAefg a1 |

10. Discuss the reason for the distrust in statistics. 5

GRS 2y e eome =6 JRYFTeR 82 S SIEo- 4] |
Or / 1231

Give your opinion on the statement—“Statistics can prove
anything”. 5

‘SRR R @I U 219 IRT 2 1 @3 FAFINFI 82[_S (OF
YOS A9 91 |

11. (@) Evaluate (¥ g <41)

7\/ 1
0-8176 x36-21 4

Or / 1331 .

Solve for x (x=3 ¥+ 7 F¥1)
L - oy . B
log, 10 logs10 4
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(b) What is the difference between questionnaire and
schedule?

2P S SPoIS e N1l foran |

2

(c) Define the following (any two) : | 1x2=2
oot e e e (R cven ot) -
(i) Primary Data
37
(i) Parameter
amoe
(i) Frequency Density
BISSIE SRR

12. (@) Write a note on the advantages of graphs and
diagrams.

@} IF o aEAmel JacE aft G foran |

4

(b) Represent the following data by a histogram : 4
Solq YR SFSCAIR SIS Tl F

Weight (kg) | 40-50 | 50-60 | 60-70 | 70-80 | 80-90
ST (kg)
Frequency 5 14 18 10 4
SIERSIS O]
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13. (a) Fill in the blanks :
YA R o[ T
() 1 acre = sq. yards.
1 9= A 5| |

(ii) The volume of a cone is

b1 *PT TS — |

(iii) — may be located from ogive.

FET JRERO] @R e —_Ffg sa =@

1x3=3

(b) Write a brief note on various parts of a statistical table. 5

@3 RPN oo RSa W@ @oe b1 5 G i |

14. Following are the ages of 50 workers in a business
concern :

9Bl TRT iR, 50 T4 FLOIRI] IPE O T 431 :

C7/40

45,
57,
57,
37,
62,

53,
30,
49,
62,
28,

33, 32,
71, 40,
54, 34,
29, 51,
38, 48,

65, 68, 49,
58, 48, 47,
44, 46, 60,
60, 49, 57,
44, 39, 52,

56, 39,
43, 55,
51, 37,
70, 63,
51, 36,

55,
63,
61,
68,
27
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Prepare a frequency distribution table showing tally marks
taking the class intervals as 20-29, 30-39, 4049, ..., etc.
Also find—

W% BT °[ W9 BT T8 (RER 99 IRI|] Koo wiferer sion 341 |
M SEEPTR 20-29, 30-39, 40-49, ... @R &I A | O
AgS I Forme—

(a) the frequency density of each class;

2o R RIS w9y [y F4;

(b) the percentage of workers whose ages lie between
40-69 years;

40-69 I3 oo IR FHRK o1 IR [l 310;

(c) the percentage frequency of each class.

AfSCB1 AT 1o IR g 47 1

* % K
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1. Answer as dire‘cted ; 1x8=8
RTpTR T ot
(a) In which year were the Presidency Banks of India
amalgamated?

SRS (eifbrel @R (FIF 1o GaqIet 1 (2fRA 2

(b) The Banking Regulation Act was passe’d in the year
: | ( Fill in the blank )

@3 Rz iEm S 2 91 (2 |

(mﬁ’rﬁﬂng)

- (c) What is barter system?
Ry a2 2

(d) State a characteristic of inflation.

TurHifes b1 (afer Seay 4 |

(e) Write the full form of ATM.
ATM-T = oicBT fora |

() Who is a bank customer?
(AP ART (FIH?
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(g) Overdraft facility can be availed in current/
savings/fixed deposit account.
( Choose the correct answer )

e / w7l o Rerere SRy ke com am

(o7 oo iR Sferea )
(h) Write what is indigenous banker.
Ragm @3 &, B

2. What do you mean by trade cycle? 2
Tfrerse v B g 2 '

3. Give the meaning of Banking Ombudsman. - 2
R AR S o1 |

4. Write two advantages of current account. 2
5 forem TB1 R e |

5. Name ény two public sector banks of India. 2
SO T (PICAT Y51 IR I9T ([P AN =197 1

6. State two important functions of commercial bank. 2
AT RFI YO1 9Fey| IR TEmy 90 |

7. What are the different types of e-banking services? 3

fifea ger 2-RR R 7 =6 2
8. Explain the types of loans given by the of commercial

bank. 3
MM AT WeCet [iSH aR 4o RO 747 |
9. State the procedure of opening joint account. 3
(DY 1 AT ormhS 3ot 4 |
10. Explain why Central Bank is called lender of last resort’. 3
AN [T ‘O TSI Yerror” 2o ¥ o1en 30 =, I 40
11. State any three stimulating effects of inflation. &

qaries R @Al fofRE Srafagere 2o Soay 39 |
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12. Discuss the general utility functions of a bank. S
(RFI SCAPCAN RS e 47 |

13. State about licencing of banks. 5
QRFT SIeES Ry eay 391 |

14. What are the differences between Commercial Bank and
Central Bank? 5

AT (T TF (FIH @I TS A NI 5 2

15. Describe the characteristics of regional rural bank. <

wfers ANl ([P IFEIIR I 9 |

16. Explain the techniques of creating credit by a commercial
bank. S

AT (AT At Y2 = SCh! AN T |

17. What are the main phases of trade cycle? 5
s vars U TR & 76 2 |
Or / &1
Explain the meaning of depression.
e S G AT
18. State any two selective credit control techniques adopted
by the RBI. 5
R @ 2994 01 | m*{b‘rwﬁw Y g orafs oy 4 |
Or / &3

Describe the procedure of opening a bank account in the
name of a minor.

. R AN (3530 2O (AR e 39091 41 |

19. Discuss the evolution, origin and growth of banking in
India. 8

TREING [ FURIM, Tl wF S Ry seaw-n < |
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Or / 7iZd1

What do you mean by internal and external organization of
commercial bank? Describe the different departments of a

commercial bank. 4t+4=§

AR @ oA W Reeed e 7 ge? AMARE @I
fifen Rersr Reca sz 41 |

20. Discuss the causes and effects of inflation. 8
TErEIeT PR SF FAFPHZ A 4 |
21. Explain in brief the various functions of the Central Bank. 8
I @537 RiSa IR syt wrm 4 |
Or / 7121

Explain the functions of Central Bank as (a) Bank of note
issue and (b) Banker’s bank. 4+4=8

(a) G 2% WI1F (b) @RRFF @wfism@@ﬂ@:wmaﬂwr

22. Write short notes on any two of the following : 4x2=8
wers T R e o 5y Gt e

~ (a) Banker’s clearing house

P9 Ry o

(b) Investment bank
Rt ce

(c) Recession

(d) Overdraft
Sy

(e) Pay-in-slip book
-3 3

. ko
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